9 90 3 291N

1 noNY

a = (a1, az,az) NTIPIN NVADA , Y DY PPN 2 NN MPTHD MNIN MNNWHA 2D NN
Zz(ar,a2), zy(a1,a2), Zzy(ai, az) DX WM

1
F(z,y,2) =9y +ay+22—e*—4=0
a=(0,e,2)
2
rz+ylnz4+22=0
a=(-2,0,2)
2 NYNY

A22+y5 +cosz — 1=z + 1 nnwn nnm
2y, 2 9 8PN9d z NX (—1,0,0) N2202 NPT INNYHN DN .1
2w,z Y epNed y N (—1,0,0) N2202 NVTHIN IRNYNN DN .2

2,y OV PPN z X (—1,0,0) N2202 NPTHID INNYHN DX .3

3 NYNY
TAN 93 295 IMINDN PPN ONIN NN ND»PN F(z,y, z) = 0 nNnwnn » no .1
NVSPND NPT PN a = (a1, az, az) NTIPIA DINYNN 0

=y, 2), y=ylxz), z=zy)

(7901N) NN N8N

0 0 0
gy (02:43) 5 (@) 5o (ar, @)

4 NYNY

2 970 Ty MONY Nrpbn My ndya D onn Sy mymn F(z,y) 8pns onn
PPNV 15 (zo,y0) € D NnTpI Ny .D onna

F($073/0) :07 Fm(irOvyO) :07 Fy(xmy()) #07 Fzz(xmyO) 7&0

07) (20, yo) NTIPIN NADA y DV PEPNND £ NN NVPTID NP F(a,y) = 05 non
L% TPNPNA HY MINON R¥MY T OV P¥PNND y DN NPTHIN INNIVHNY NN



5 YNV
N 9Py

neNENS Morp (2,1, —1,-2) 2 womw B C R* xnwod Mo 07 00 ron
v 15 .B oy mayia mynnu,v: B—R

w(2,1,-1,-2) =4, v(2,1,-1,-2)=3
o»pmn (z,y, z,w) € B nTMp) 9590

u? v w?

u? +v? +w? =29, ;§+§5+;5:17

2 pyo

DN N30

Uz (2,1,-1,-2), v,(2,1,-1,-2), u.(2,1,-1,-2), 0.(2,1,—-1,-2)

6 NYNY

MXNYD NOIYN NNM

f(@,u,v) =0
9(y,u,v) =0
h(z,u,v) =0

W0y a = (ay, az, az,aq,as) € RS May
_ [ hulas,as,a5) hy(as,aq,as) | fular,as,a5)  fo(ar,aq,as)
Aa - 9 Ba -
gulaz,aq,as)  gu(az,aq,as) gulaz,as,as)  go(az,as,as)
DN D NN
|Ba|hz(a'37 Gy, CL5) 7é 0
DPPIM @ NADA 2,y DY EPNDD 2 IR NPT NOIYNN N

0z Aa z\a1, G4, a5
8—x(a17a2)—‘ | f2(a1, a4, a5)

| Balhs(as, a4, a5)



